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Complete each of the following transformations, using the given AABC as the preimage. Record the resulting
coordinates of the image AA'B'C’. As you are working, look for a pattern in each transformation.

Translation right 3

ALy >A (Y o, 1)
B25)>B (5 , &§
c34->c¢ (& . L.(

Translate left 6

AL SN (-5, )
B2,5) 58 (—H, )
cBa>C (=3,

Translate up 4
AL >A (|,

,OUW _tm,,

B(2,5) 5B ( A

a>C (F , P )

Translate down 7

ALy >A (| -G
B(2,5)>B" ( ) . - )
a->c (3 -2 )

Reflect over x-axis

N
-5
=)

A(1,1) > A (
B(2,5) 5B ( ol
c3,4)>C

Reflect over y-axis

ALy>a (=], | )

o

B(2,5) >B’ (—2, 5
34 >c (-3, 4

Reflect overy = x

ALysa (|, L)
BR25)>B (5 ,o& )
H .3

Reflect overy = -x

C(3,4)>C

ALl >A (-] ~| )

B(2,5) >B (=5 ,~2 )

cBa)>C (=4, =%)

Rotate 90° Counter Clockwise

AL >A (=), )
B25) 5B (-5 , 2 )
wa>c -H , 2
Rotate 180°

IR E Y G B
85 58 (<2, -5)
c34)>cC (-5 ,—L{ )
Rotate 270° Counter Clockwise
1)
5, =2)

Ba>C (4 =3B

ALL)S>A ()
B(2,5) >B’

Rotate 360°

rFol
B25)>8 ( 2, 5
3.4

A(1,1) > A (

C(34)>C



Name
Now that you have found the image for each transformation, try to find a pattern called the generic coordinate or
Coordinate Notation for each. Use the below example for help.

EXAMPLE

A(1,3) > A’(-3,1) Looking at the coordinates for the pre-image and image of each point ,
B(4,5) -> B'(-5,4) notice the pattern that the sig\nof the second value changes and the values also
C(2,-6) -> C'(6,2) switch places. This would be written as (Cl, b) - (—b, Cl). This is the generic

coordinate that will hold true for each of these points A, Band Cto A’, B"and C'.

Use your answers on the front to find a pattern write the Coordinate Notation for each of the following transformations.

Translate right 3: (CA \O\ > (O\*\% b>

Fransiote left6: L G \D\ 5 (a- 6 \O>
Translate up 4: (C\ \03 Vs (G\ \OAVLD
Translate down 7: (C\ \O\ 4 (O\ B’7>

vt oo (O \oﬁﬁz (a b)
e erroseO ) 7 (=0 )
Reflect over y=x: (G\ \{)\> > (\/) 0\>

Reflect over y=x: _\ O \\D\ 2 (- b 0§>

Rotate 90° CCW : (Q \O\ 7 ( \D O\>
Rotate 180° : (O\ \03 > ( X, \D>
Rotate 270° CCW : CO\\O> i O(\ 0\>
Rotate 360° CCW : (O\ \O\ ‘>( \\O>




